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seslisi / MATHEMATICS

(a0 wHmb Y Ede eyl / Tamil & English Versions)

Cryb : 2v2 wenfl ] [ Qurss wHublueamser : 100
Time Allowed : 2%2 Hours ] [Maximum Marks : 100
sifleyenr : (1) Simaisg efanmas@Erhd flures oidsl ugleurdl e drersm eremigeamen

slluniégé Qsrarareyd. HFaliLlele Gopulmlule Sips
semsreaniiiurerflb o L eaigwirs Qsflellésab.

2 Bob Sdog spUY @bulaa LLEHCWL aWHUSHGWD,
9113 ECEMy HausHEGD LweTLhSs CeuamhHid. UL BISET euenresnE
Querdled LwerL(h&se]| .

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
' fairness, inform the Hall Supervisor immediately.
(2) Use Black or Blue ink to write and underline and pencil to draw diagrams.

@Iy : Qeuedamgsrar Breng Wilajsmends Carem g

Note : This question paper contains four sections.
tSlfley- 1/ SECTION -1
(wHLQuerser : 15) / (Marks : 15)

GOy : () @Uafeli 2 erer 15 ellemssEha@d allamLeissalib. 15x1=15

@) Qar@ssiul(erer mret@ wrHn el galld Weeab sflwrer
e ews Csiplsdss GO GLer ellaLwiimanynd Cerdg
ET(LPSE|LD. :
Note : (i) Answer all the 15 questions.

(i) Choose the correct answer from the given four alternatives and write the
option code and the corresponding answer.
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1. | f(x)=x2+5, ereflled f(—4)=

(=1) 26 (<) 21 (@) 20 o (m) —20
If f(x)=22+5, then f(—4)=

@) 26 b) 21 (€) 20 (d) -20
. o . o . a—b
2. | a b, ceremuen g QUmE@ES Qs euflenguiier o erarer erefled o
a b a c
(1) 3 (=) 7 @) < () 5
If a, b, c are in G.P., then ;: - is equal to :

(©)

N

@ = (b)

a

3. abc [ meeanuer gl hg Asri euflenguled @QmUlber a—4b+6c—4l+m= :
(@)1 (=) 2 (@) 3 (rF) 0
If a, b, ¢, I, m are in A.P., then the value of a—4b+6c—4l4+mis :

@ 1 (b) 2 (© 3 (d ©

4. . 6x—2y=3, kx—y=2 erennp QarGUADG @Crowrm Siey o @@L afe

(1) k=3 (=) k=3 (@) k=4 (F) k=4
If the system 6x—2y =3, kx—y=2 has a unique solution, then :

(@) k=3 b) k=3 € k=4 (d) k4
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49(x? = 2xy +y?)? -6 QUGS CLPEILD :

(1) 7]x~yl () 7(x+y)(x—y)
(&) 7(x+y) () 7(x—y)?
The square root of 49(x?—2xy +y?)? is :

@ 7lx-yl (b) 7@+y(x-y)
(@ 7(x+y)? @ 7(x-y?

2
BGx1) [—1] = (20) er@fléd, x-6or WL :

3
1
(@) 7 (<) -7 @) 7 (w) 0
2
If (6x1) [—1] = (20), then the value of x is :
3
1
@ 7 ®) -7 © @ o

@@ Ul Lgdlem eppwid (—6, 4). @ L sHlem m wpenen (—12, 8) erafle,
SISET LDMI(LPENET

(@) (-18,12) (=) (-9, 6) (@) (-3,2) (") (0,0)

The centre of a circle is (—6, 4). If one end of the diameter of the circle is at (—12, 8),
then the other end is at :

(@ (18, 12) () (=9 6) © (=372 (d (0,0
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10.

4

(0, 0), (2, 0), (0, 2) Y&Fw yaratlasermed enow|d WPECETaTSHen LFLiLy :
(=1) 1 5. GseT (2)) 2 &.OGSHeT

(@) 4 s.@HeT (FF) 8 & @GsHeT

Area of the triangle formed by the points (0, 0), (2, 0) énd 0, 2)is :

(a) 1sq. units (b) 2sq. units

C 4 sq. units d) 8 sg. units
9 9

APQR-é RS eranigl ZR -ar Camenr 2 1yn @ @ewGeuly. PQ=6 Q&.8.,
QR=8 Q&.18., RP=4 Q&..8., crefléd PS = :

(=) 2 Q&.18. (<) 4 Qg.185. (@) 3 Qa.5. () 6 Qa.ib.

In APQR, RS is the bisector of ZR . If PQ=6 cm, QR=8 cm, RP =4 cm then PS is equal
to:

4 cm () 3cm (d) 6cm

QamIGsrent AABC-e0 ZB=90° womib BDLAC, BD=8 Q&.18., AD=4 Q&.18., erafled
CD = :

(1) 24 Qa.(8. (<) 16 Q&.15. (@) 32 Q.15 (FF) 8 Qg.15.

AABC is a right angled triangle where ZB=90° and BDLAC. If BD=8 cm, AD=4 cm,
then CD is :

(@) 24 cm (b) 16 cm () 32cm (d) 8cm



11.

12.

13.

14.

(cos20—1) (cot?0+1)+1= |
(20)1 (=) -1 (@) 2 () 0
(cos20—1) (cot?0+1)+1=

(@ 1 o -1 (© 2 @ 0

&

a ) ) )
tan® = " eTafle, ‘ > -en WSl

a’+x
9| ) cosb sinf cosecl FF) sec -
=2b
If tanf = 2 , then the value of >
x a“+x
(a) cosb (b) sind () cosech (d) seco

@ Hewo CararSlen cuenarLyL] 24 Q#.18.2. by Cararsans Qran( HenTs
Carartisarrall NssTd HoLsEb mrsCarambisaia genlar QorgsLl
Ly

(=1) 12 Q&.15.2 (<=1,) 8 Qe.15.2 (@) 16 Qs.8.2 () 18 Q.82

Curved surface area of solid sphere is 24 cm?. If the sphere is divided into two
hemispheres, then the total surface area of one of the hemisphere is :

(a) 12 cm? (b) 8 cm? (¢) 16 cm? (d) 18 cm?

@ Leral efleurgglen S L_ellewssd 1.6 crafled, gen olle&s UTEEF gra
(LuFeudLIg.) : '

(1) 0.4 (<2p) 2.56 (®) 1.96 (/) 0.04

If the standard deviation of a set of data is 1.6, then the variance is :

@) 0.4 (b) 2.56 (€) 1.96 (d) 0.04

6173
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15. @m 2-ngd Hspsdubear Hapssey :
(1) 1 (<) 0 (&) 100 (FF) 0.1
Probability of sure event is :
@ 1 ®) 0 (€ 100 @ 0.1
19fley - II / SECTION - II
(mgu@uma;m : 20) / (Marks : 20)
GOl : ()  usg famésErss ofewallEsayL.
) efewrm eramr 30-6@ samgLurs e welsseyn. wsod
14 eflamssafledlmbg 9 elamssmens Caitay Qaiiweyib.
Note: (i) Answer 10‘questions.
(i)

Question number 30 is compulsory. Select any 9 questions from the first

14 questions.

16. A={46,7,8 9 B={2,4,6} C=(1,2,3,4,5, 6} erafleb A U (BN C) sreiors;.

K A={4,6,7,8 9 B={24,6} C={1,23,4,5 6} then find A U (BN C).

17.  A={1,2,3,4,5} B=N opmitb f: A—B g f(x) =22 eren uTUISSELILIL (HeTarg).
- f-on eiéessensd sres. Gaib FTi6T cumsmLIs STams.

Let A={1, 2,3, 4,5 B=N and

Identify the type of function.

f: A—B be defined by f(x)=x2 Find the range of f.



18.

19.

.20,

21.

22.

7 6173

R @MUy Lo@ImLILEG Careneuuden L&slwibisatler ah@g,eu 4 LD[DQJLD SBE
Qupsspueen 3 erafled, H&ECET@aIMWISE SHTEHTs.

Find a quadratic polynomial if the sum and product of zeros of it are —4 and 3
respectively.

2x2+px—15=0 erenp @(HUlG LORDLILSE CoTemeaulen @@ (POLTETS)
-5 erefled ‘p’-ullerm W nLIS STas. ‘

If -5 is a root of the quadratic equaﬁon 2x2+px—15=0, find the value of p.

5

3 2 .. 8 —1 . . . .
A= ( 1) wHmib B = [4 3 ] eTailed C=2A+B eremmm SN WIS STEHTs.

\

- 3 2) 8 -1
LetA=(5 1) and B=[4 3]. Find the matrix C if C=2A+B.

1 3 . o L _
A= (9 —6} arafled Al=1A=A eranuemsd Ffluniés. @mg I eremug) auflas 2

Qe @ f6mtl.

1 3 v
If A= [9 —6)' then verify Al=IA=A, where I is the unit matrix of order 2.

A4, —6), B(3, —2) wpmb C(5, 2) pHweapon 2 &fsarss Cemem
w&CaramgSlen HHSGHTL(H MWD STERTS.

Find the centroid of the triangle whose vertices are A(4, —6), B(3, —2) and C(5, 2).

[ Sy / Turn over
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23.

24,

25,

26.

8

Q&r(ésl L. AABC-@, DE|[BC. BD=x—-3, AB=2x, CE=x—2 Lo M LD
AC=2x+3. erafled x UL Srams.

A

B C
In a given AABC, DE||BC. If BD=x-3, AB=2x, CE———x—Z and AC=2x+3. Find x.

(sin®8 + cos®6) =1 —3sin%6cos?d eTemm WPHADTHWEW Hmie,s.

Prove the identity (sin® + cos®) =1 — 3sin20cos26.

@ Gamrsdar @iquielmpg 30V3 m Ogrenaede BIH@LWD ep(h LMTeneuw et
2ECHTYTEHen e dfllamar 30° ghHps Cerawsdd  srawdmpmi.
sOILLLSHSBHE SumaLw Qe flevels urimeud CSasnLlnrg)@ o _eTer
b 1.5 8 erafled Ceryrsdlen o wrsdemen srems.

The angle of elevation of the top of a tower as seen by an observer is 30°. The observer

is ata distance of 30v/3 m from the tower. If the eye level of the observer is 1.5 m above
the ground level, then find the height of the tower.

Qram® Cpraul L 2 meversaflen <y rmaseaian aldgb 2 : 3 Gogib 2 wikisaien
clldlgd 5 : 3 erafler Aeupdlen sarsieraisalen elfssmss arams.

The radii of two right circular cylinders are in the ratio 2 : 3. Find the ratio of their
volumes if their heights are in the ratio 5 : 3.




27.

28.

29,

30.

9

e Seo Chiall L smbiern SjigFspperey 236 (.5, HMID Sigem FTuwFLD

12 Q&.18. erefed, &b Ge cuaneaTUFLIMUS STEHTs.

If the circumference of the base of a solid right circular cone is 236 cm and its slant
height is 12 cm, find its curved surface area. ‘

a6 13 Gue eramsaiien S L dosssmss samsdl(Hs.

Calculate the standard deviation of the first 13 natural numbers.

ey LseLsaT @Cr Crraded e miLlu@wéurg, e gL &aetligyb
@Cr eramr e LiLgparer Hapsfluien Hepsseiamends: srams.

Three dice are thrown simultaneously. Find the probability of getting the same number
on all the three dice.

(=) Wemeud Qsrifler sahHiFe sTens.

31433 +.... +53
3I6V60G)

(<) @@ CriGsTd y- SiFms FHUydeisE Coars 3 ARGseT FnrsdHed
Qeul(h&Hmg LDﬁ)@JLb tanf = —;- (0 erarruig) CpiGamiigen smile)s Gamenid)
craled Sibg CHIGCEHT g6 FLGLITL L &HTewTs. |

(@) Find the sum of the following series.
31+33+....+53

OR
(b) Find the equation of the line intersecting the y-axis at a distance of 3 units above

the origin and tanf = —;—, where 6 is the angle of inclination.

6173
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ifley- 111 / SECTION-1I . .

(LHUIQUeTSET : 45) / (Marks : 45)

@Oy : () 9 lemésErsE el weallsseib. 9x5=45

@ elerr o 45-6@ sewgUUTs dAoLweldseyb. WsDd
14 anrésafed g TCsaid $elemrssamars Coiay Quiviab.

Note : (i) Answer 9 questions.

31.

32,

(i) Quesﬁbh n‘urﬁbér 45 is éonipulsoiy. ‘Select any 8 quésﬁons from Ehe‘ firét
14 questions.

QeuaruLriseer LweTLRSSH A\ (B U C) =(A\B) N'(A\C) GreUtEmILD Iy - LD
afflenwé sflunidsey.

Using Venn diagram verify the De-Morgan’? »Ly‘awuo'f'vset difference

A\(BUC)=(A\B) N (A\C).

JA=1{0,1; 2,3} wHmid B=1{1,:3, 5, 7, 9)iereriien- @@a;@mrmasm TEns.

f: A—B arengd &y f(x)=2x+1 eTend Qar@Estil Gereng. GasriQemar
(i) auflensé Gomgsaflen sawrid (if) < Leuenent (iii) SALYUSGOL UL
(iv) euenguLD AweuDpTd GHés. B

Let A={0, 1, 2, 3} and B={1, 3, 5, 7, 9} be two sets. Let f: A—B a function given by
f(x)=2x+1. Represent this function as (i) a set of ordered pairs (ii) a table
(iii) an arrow diagram and (iv) a graph. '




33.

34.

35.

36.

1 6173
300-6@h 500-6@0 @ Cuiuerer 1_1~<9=5‘6i> UwGUBHL Jmearsg Qwie

eramgeflen gl L HLIGET &ietors.
Find the sum of all natural numbers between 300 and 500 which are divisible by 11.

@M QumESS Qg,rra:_r'rs-w,rﬂm#uﬁ]@::#mgﬂ WHOID 7~ gl e.piiyser wenGu
54 pyid 1458 erefled, HisCsTLT auflemsenis srers.

If the 4™ and 7 terms of a G.P. are 54 and 1458 respectively, find the G.P. -

W K

az.n;ravﬂuu@ggj:a;-.: x?’.ﬂf?gxz—'.l();,t +24. G AL s D

Factorize : x®—3x?-10x+24¢.

4x4-1223+37x% + ax +b eremp. uw@gguqs C?a;rremm P(D (CUT&ELD- GTGGﬂGD a, b 5T
< Slweumdler Loﬁuqaseo’)ma; BAGTG. o e o e e

Find the values of a and b if the following pbijnofhial is a ;p'errféct‘ squér“e.-

P e g

4x4-12x3+37x2+ ax +b.

[ $pliLs / Turn over
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37.

38.

39.

40.

12

(1 -1 ‘ e |
A= (2 : 3] erafléy A2—4A+51,=0 eren Hlmeys.

1 -1
If A= (2 3] then show that AZ—4A +5I,=0.

AABC -air pevenaer A(l, 8), B(—2, 4), C(8, —5) Gugid M, N ereanLier perpGw
AB, AC Qapdler pHUL6TaflEar eraildd MN-er srimeis &Teams.
QegsCaram® MN whnib BC g du CrrCasrfeer Glanean erans sr(ha.

The vertices of AABC are A(1, 8), B(—2, 4), C(8, —5). If M and N are the midpoints of
AB and AC respectively, find the slope of MN and hence verify that MN is parallel
to BC.

4x+3y—12=0 erap CpiGar( siéss@Epen gOUbSSID p&CaTanTs Sl e

urinlenend Hmers.

Find the area of the triangle formed by the line 4x +3y—12=0 with the co-ordinate
axes. ,

CrisEsstar @ wrsfear Cuaursd stpileamed wHlbg, by LGS
8Cp whg elLmoed, wrsder 28 sogyLear 30° Caramsms
FHUDESHDE. wrsHar 258 sigen oiqulelmbg 30 1S AgTaaaid gmramws
Qerhdng erafle, wrsdler (P 2 WTEMSS STas.

A vertical tree is broken by the wind. The top of the tree touches the ground and
makes an angle 30° with it. If the top of the tree touches the ground 30 m away from
its foot, then find the actual height of the tree.



41.

42.

43.

44.

13 6173

SAM&Es L evibLimerg 2 meveruilen g smibL @)eanmhs aulgadled &Grrmga/
2 meerullan oSl Lib whmib 6oL Lbi9 e Crds 2 wrb wenpGw ‘19,@?.6.

80 Qa1 EW. Fby UrssHer 2 wrbd 12 Qs.18. erafé auLLoLSlafr Quwrss

UoUUrinlenesds smesrs.

A cricket stump is in the shape of a cylinder surmounted by 2 cone. The diameter of
the cylinder and the total height of the stump are 10 cm and 80 cm respectively. If the
height of the conical part is 12 cm, then find its total surface area.

18 Gle.i8. @y raperer e o Georsd Cememoreng) o (mésiuL () epermy & lw
CleueGeum oierajerer Camoriiserms UMTESEILOEDS). DjeueuTm) eumissiuL L
Qram® Sawros Carartisailen wpriisdr weopGw 2 Qg.18. wHmb 12 Qs.18.
erafled epempreug; Gamargdlen ATEDSE STems. ; '

A spherical solid material of radius 18 cm is melted and recast into three small solid
spherical spheres of different sizes. If the radii of two spheres are 2 cm and 12 ¢m, find
the radius of the third sphere.

Wereumsid LdUiLseafier roum_ (& Cspaes samés (e, 20, 18, 32, 24, 26.

Calculate the co-efficient of variation of the following data 20, 18, 32, 24, 26.

@ enuiuded 10 Qeuetenar, 5 MUY, 3 ud@s wHMbD 2 Heuliy Bol ubg ser
2. eTemen. FweUTLIL wpenmudd Coibls@ssuL@L g ubg, Qetdrener
DADDG HHUL DD LiFans Bimwors @ mUiughaerer Bspsselener srars.

A bag contains 10 white, 5 black, 3 green'and 2 red balls. One ball is drawn at random.
Find the probability that the ball drawn is white or black or green.

[ L4 / Turn over

——

—




6173 14

5. (onP=—2— Q=Y aald — ey 8% STans.
(=0 x+yQ x+y P-Q .PZ‘—‘Q‘2 &

Sl

(<=4) AABC—Gb‘uésaag‘bz.BC—uﬁlsifr:p@Quuaﬂ D eréns. P opmib Q eremien AB opmid

AC-gaflen Glodriemiophs Larefiset <,@h. Gogib £BDA WHOID £ADC

< Hw Carammisamer pepGuw DP whpid DQ GTETLIET @) FILO LITSRISETTE
GR&@W erafléd PQ|BC eren Hlmieys. ‘

x v P e 2Q :
fP= , Q= —=—; then find te—=2 = = .
(@) x+y .Q x+y e P-Q p2 - Q?
(b) D is the midpoint of the side BC of AABC. If P and Q are points on AB and on AC

such that DP bisects ZBDA and DQ bisects ZADC, then prove that PQ|[BC.

19fley - IV / SECTION - IV
(HLQuTST : 20) /(Marks : 20)
@aQaun efameigid 2 drer Grewr(h wrpn elamemeas CaibesOSS!
Bm amésEns@h el wellEsa). 2x10=20
Note : Answer both the questions choosing either of the alternatives.

GOy :

46. (i) 3 Q&.18. rapeTar QULLID GUETS. al L awselmbsl 7 Q.15
Qgreneaiid e Lerallamus @Nssl, uyeareiuilelBhal UL LSHDG
QsrHCsTR&eT auemys. Ggid QsrHCasrhsallar Barsms SieTHS!
TPG!S- '

SI060F)
() AABC-& BC=5 Qs.18., ZA=45" wppb 258 A WS ®HE BC 66
aueruLL_ L pH&ECST g6 Harid 4 Qs.18. et Q&GO AABC auenys.

(@) Draw a circle of radius 3 cm. From an external point 7 cm away from its centre,
construct the pair of tangents to the circle and measure their lengths.

OR .
(b) Construct a AABC such that BC=5 cm, ZA=45° and the median from A to BC

is 4 cm.



47.

W

15 61/73//

(S) y=222-d1 auwruLbms aimrps oHmhE 2024+ x— 60 ey
ELGUTL LG Sidseyh: L R

L
P

Y
() @ it uraller efene T 15 erema. umedleor amcey,és"@/tb- eflenas @b
2.6Temd Cgm_mlenend sm_Hib euengri_tb GUEDTE. DiFEneILl LieTLIDEE) :

LosRTE R e Y g

[

(@ 3L urellen efenerenis Erams.
(a) Draw the graph of y=2x2 and hence solve 2x2+x—6=0, . . . v
(b) The cost of milk per litre is ¥ 15. Draw the graph for the relation between the
-quantity and cost..Hence find: - . P T
(i) " the proportionality coristant -~ "
(i)  the cost of 3 litres of milk.

. - . - - e
I B N . [l i e R K
N N
=ty ) 5 s
) i ;
.
- ; L »
- B I ,
4 - : 1 1 -
~ ! it v Wy b < - “w ' "
o -
H W = v A
N i .
Te ¢
T 5
R )
)
s iy
TR ' a
ot ¢
. , " S i chn
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ia

T

P

—







